p. 105 13-16
Sketch the graph of the derivative given the original function
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* Sketch the graph of a continuous function f
withf(O}=-land [L x(-l}
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* Sketch the graph of a continuous function f

with f(0) = 1 and
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p.1368

The number of gallons of water in a tank t
minutes after the tank has started to drain is
z2(t) = 200(30 - t)2. How fast is the water
running out at the end of 10 minutes?
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p.1368

The number of gallons of water in a tank t
minutes after the tank has started to drain is

2(t) = 200(30 - t)°. What is the average rate at
which the water flows out during the first 1
minutes? =

a(o)= 200(38) = 200{%00) = BODO0O

2 (10) = 220 ':'Jﬁl = wolyep)=80c00
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a. When does the particle move lorward? Move backward?
(0,) (57 torward

(1,5 Matcloward
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a. When does the particle speed up? Slow down?
{‘ﬂ:) (u’ gfﬁa‘f‘ V&) Mn,.a‘ctlm‘l.—-.'lfs
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b. When is the particle’s acceleration positive? Negative?
(3,0) &0 ey
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c. When does the particle m:
mave at Its greatest speed?
v 18 forvhery away £ram N-api s |
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¥=fn

d. When is the particle at rest?
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b. Graph the particles velocity.
(o,0) m=1 (34) m=0

(L2) w= 0
(2.5 m=-4 5,0 m=-2




b. Graph the particles speed.

(b"\ ;F.d,f-?. 13153 ,PJ =0
(4,2) spesd =0 (5,6 ged=2
(2,3) speed=Y
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b. When is the body moving at a constant speed?

Speed 15 34w (36)






d. Graph the acceleration, where defined.
foy) a®=3  (6.8) ato=3

(1,3) )73 (3"Q ‘u‘]-:.—]?.:"f.'i
(3,8) ated=0
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* A particle moves along a line so that its
position at any time t > Q is given by the
function s(t) = t2 = 3t + 2, where is measured
in meters and t is measured in seconds.

a) Find the displacement during the first 5

seconds. . ¥
se)y= L 12-2 = \0 paekees
L S+2=12 ) x
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* A particle moves along a line so that its
position at any time t > 0 is given by the
function s(t) = t2 = 3t + 2, where is measured
in meters and t is measured in seconds.

b) Find the average velocity during the first 5

seconds.
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* A particle moves along a line so that its
position at any time t > O is given by the
function s(t) = t2 = 3t + 2, where is measured
in meters and t is measured in seconds.

c) Find the instantaneous velocity whent =4
H'(_-Ie\-“' -3

v(9)= 8-3=Jmlsc
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* A particle moves along a line so that its
position at any time t > 0 is given by the
function s(t) = t2 = 3t + 2, where is measured
in meters and t is measured in seconds.

d) Find the acceleration whent =4

f—_':.f'\,-' =2 ™ I'S:.c."
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* A particle moves along a line so that its
position at any time t > 0 is given by the
function s(t) = t2 - 3t + 2, where is measured
in meters and t is measured in seconds.

e) At what values does the particle change

direction |  —
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* A particle moves along a line so that its
position at any time t > 0 is given by the
function s(t) = t2 = 3t + 2, where is measured
in meters and t is measured in seconds.

g) Describe the motion
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* The position of a body at time t sec is
s =t — 6t + 9t meters. Find the body’s
acceleration each time the velocity is zero.
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* A particle moves along a line so that its
position at any time t > O is given by

s{t) =-t? + t + 2, where s is measured in meters
and t is measured in seconds.

a) What is the initial position of the particle.
s J'n) -_ l.l



P 156 Q0 #4
* A particle moves along a line so that its position
at any time t > 0 is given by

s(t) =-t? + t + 2, where s is measured in meters
and t is measured in seconds,

b) Find the velocity of the particle at any time t.

v 5{3—2 —1"&; i\ 1.
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* A particle moves along a line so that its position
at any time t > 0 is given by

s5(t) = -t? + t + 2, where s is measured in meters
and t is measured in seconds.

c) Find the acceleration of the particle at any
time t.
v &) =2k + |

A : 3
al)= -2 i



p. 156 QQ &4

= A particle moves along a line so that its position at any t>0
is given by s{t) = <t* + t + 2, where s is measured in meters
and t is measured in seconds.

d) Find the speed of the particle at the moment when s{t) = 0.
D= AEE+ vie)= -4 + |
o=+5%t-2 v(ay=2k+!
0= (D) (€+)

r(a)=-3
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* Acurve in the xy-plane is defined by xy* = x% = 6
a)  Find dy/dx

X33y 4 & -[;3243&-9] = ®
2152 +51' - k‘% = 3«.,"5 =0
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* Acurve in the xy-plane is defined by xy? —x% =6
b) Find an equation for the tangent line at each point on the

curve with x-coordinate 1. C‘i 3\ (11__1)
I Gb_h‘-_“ ;
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* Acurve in the xy-plane s defined by xy* =x¥y =6
c) Find the x-coordinate of each point on the curve where the

d! 18 andetined
3 Tiehis
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* Find dy/dx of the curve and the slope of the curve at the
indicated point.

(x=1)" +(y=1) =13 (3.4)
26y & 2ls-Yis = 0 g .- -t
2(3-) + AN =0
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* Find dy/dx of the curve and the slope of the curve at the
indicated point.

(x+2+(y+3V'=25 (1D
2(xr2) > 1(3*-3)%\_1 =0 b= Bdy
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* Find where the slope of the curve is defined. -
wt "
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* Find the lines that are tangent and normal to the curve at the
point (2,3) (1‘3‘) m‘—-':'i
X +xy—y' =1
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* Find the first and second derivative of the following
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« Fnddy/dxit _ x+sin(xy)=y

B “@ﬁ =% b - | hyold
N
D dyostugy =& - v.m(u-{\a

g, > %‘(\-acus{m\)




p.2422 Use U'hopitals rule to find the limit

limsin(s,x) _o
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p2426 Use LU'hopitals rule to find the limit
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p228 * Use Uhopitals rule to find the limit

. X -4x+4 O
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p2a216 Use L'hopitals rule to find the limit

. 5x*-3x =
lim . = =
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p20227  Use L'hopitals rule to find the limit
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p.24235 Use L'hopitals rule to find the limit
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